
®

Galvanized

HEX NUTS HDG	 a.  1

HEX COUPLING NUTS HDG	 b.  1

USS FLAT WASHERS HDG	 c.  1

SPLIT LOCK WASHERS HDG	 d.  1

SQUARE PLATE WASHERS HDG	 e.  1

ROUND MALLEABLE IRON WASHERS HDG	 f.  1

ROUND MALLEABLE IRON WASHERS 	 g.  1

HEX BOLTS A307 HDG  	 h.  1 - 4

CARRIAGE BOLTS A307 HDG	 i.  1 - 3

HEX LAG SCREWS HDG	 j.  1 - 3

ROOFING SCREWS HWH W/BONDED WASHER HDG	 k.  1

ROOFING SCREWS HWH W/BONDED WASHER HDG	 l.  1

A307 GRADE A ALL THREAD RODS	 m.  1

galvanized_032025  



a. 112825 Carmenita Rd . Santa Fe Springs .  CA . 90670 | 1.800.468.9513
grattanfasteners.com

GALVANIZED

HEX NUTS HDG

G
AL

VA
N

IZ
ED

GRATTAN 
PART #

BBI 
PART # DESCRIPTION SIZE BOX 

QTY
VD 
CODE

FAMILY 
CODE

185001 323040 HEX NUTS HDG 1/4-20 100 PT 323

185002 323080 HEX NUTS HDG 5/16-18 100 PT 323

185003 323120 HEX NUTS HDG 3/8-16 100 PT 323

185004 323200 HEX NUTS HDG 1/2-13 100 PT 323

185005 323240 HEX NUTS HDG 5/8-11 50 PT 323

185005B 323240 HEX NUTS HDG 5/8-11 600 BR 323

185006 323280 HEX NUTS HDG 3/4-10 25 PT 323

185007 323320 HEX NUTS HDG 7/8-9 25 PT 323

185008 323360 HEX NUTS HDG 1-8 25 PT 323

185009 323400 HEX NUTS HDG 1 1/8-7 10 PT 323

185009B 323400 HEX NUTS HDG 1 1/8-7 100 BR 323



b. 112825 Carmenita Rd . Santa Fe Springs .  CA . 90670 | 1.800.468.9513
grattanfasteners.com

GALVANIZED

HEX COUPLING NUTS HDG

G
AL

VA
N

IZ
ED

GRATTAN 
PART #

BBI 
PART # DESCRIPTION SIZE BOX 

QTY
VD 
CODE

FAMILY 
CODE

185104 896075 HEX COUPLING NUTS HDG 1/2-13 25 PT 896

185105 896085 HEX COUPLING NUTS HDG 5/8-11 25 PT 896

185106 896090 HEX COUPLING NUTS HDG 3/4-10 25 PT 896

185107 896095 HEX COUPLING NUTS HDG 7/8-9 10 PT 896

185108 896100 HEX COUPLING NUTS HDG 1-8 10 PT 896

185109 896105 HEX COUPLING NUTS HDG 1 1/8-7 10 PT 896

185204 896855 HEX COUPLING NUTS W/INSPECTION HOLES HDG 1/4-20 25 PT 896

185205 896885 HEX COUPLING NUTS W/INSPECTION HOLES HDG 5/8-11 25 PT 896

185206 896890 HEX COUPLING NUTS W/INSPECTION HOLES HDG 3/4-10 25 PT 896

185207 896895 HEX COUPLING NUTS W/INSPECTION HOLES HDG 7/8-9 10 PT 896



c. 112825 Carmenita Rd . Santa Fe Springs .  CA . 90670 | 1.800.468.9513
grattanfasteners.com

GALVANIZED

USS FLAT WASHERS HDG

G
AL

VA
N

IZ
ED

GRATTAN 
PART #

BBI 
PART # DESCRIPTION SIZE BOX 

QTY
VD 
CODE

FAMILY 
CODE

186001 P44001 USS FLAT WASHERS HDG 1/4 100 PT P44

186002 P44002 USS FLAT WASHERS HDG 5/16 100 PT P44

186003 P44003 USS FLAT WASHERS HDG 3/8 100 PT P44

186004 P44005 USS FLAT WASHERS HDG 1/2 100 PT P44

186005 P44007 USS FLAT WASHERS HDG 5/8 50 PT P44

186005B 345007 USS FLAT WASHERS HDG 5/8 50 BR 345

186006 P44008 USS FLAT WASHERS HDG 3/4 50 PT P44

186007 P44009 USS FLAT WASHERS HDG 7/8 25 PT P44

186008 P44010 USS FLAT WASHERS HDG 1 25 PT P44

186009 P44011 USS FLAT WASHERS HDG 1 1/8 10 PT P44



d. 112825 Carmenita Rd . Santa Fe Springs .  CA . 90670 | 1.800.468.9513
grattanfasteners.com

GALVANIZED

SPLIT LOCK WASHERS HDG

G
AL

VA
N

IZ
ED

GRATTAN 
PART #

BBI 
PART # DESCRIPTION SIZE BOX 

QTY
VD 
CODE

FAMILY 
CODE

188001 350001 SPLIT LOCK WASHERS HDG 1/4 100 PT 350

188002 350002 SPLIT LOCK WASHERS HDG 5/16 100 PT 350

188003 350003 SPLIT LOCK WASHERS HDG 3/8 100 PT 350

188004 350004 SPLIT LOCK WASHERS HDG 1/2 100 PT 350

188005 350005 SPLIT LOCK WASHERS HDG 5/8 100 PT 350

188006 350006 SPLIT LOCK WASHERS HDG 3/4 50 PT 350

188006 350007 SPLIT LOCK WASHERS HDG 7/8 50 PT 350

188008 350008 SPLIT LOCK WASHERS HDG 1 50 PT 350



e. 112825 Carmenita Rd . Santa Fe Springs .  CA . 90670 | 1.800.468.9513
grattanfasteners.com

GALVANIZED

SQUARE PLATE WASHERS HDG

G
AL

VA
N

IZ
ED

GRATTAN 
PART #

BBI 
PART # DESCRIPTION SIZE BOX 

QTY
VD 
CODE

FAMILY 
CODE

186024 297130 SQUARE PLATE WASHERS HDG 5/8 X 2 25 PT 297

186028 297050 SQUARE PLATE WASHERS HDG 5/8 X 2 1/2 25 PT 297

186029 297060 SQUARE PLATE WASHERS HDG 5/8 X 3 25 PT 297

186020 297095 SQUARE PLATE WASHERS HDG 3/4 X 3 25 PT 297

186026 297100 SQUARE PLATE WASHERS HDG 7/8 X 3 25 PT 297



f. 112825 Carmenita Rd . Santa Fe Springs .  CA . 90670 | 1.800.468.9513
grattanfasteners.com

GALVANIZED

ROUND MALLEABLE IRON WASHERS HDG

G
AL

VA
N

IZ
ED

GRATTAN 
PART #

BBI  
PART # DESCRIPTION SIZE BOX 

QTY
VD 
CODE

FAMILY 
CODE

187001 P39061 ROUND MALLEABLE IRON WASHERS HDG 3/8 40 BR P39

187002 P39071 ROUND MALLEABLE IRON WASHERS HDG 1/2 40 BR P39

187003 P39081 ROUND MALLEABLE IRON WASHERS HDG 5/8 40 BR P39

187004 P39086 ROUND MALLEABLE IRON WASHERS HDG 3/4 40 BR P39

187005B P39091 ROUND MALLEABLE IRON WASHERS HDG 7/8 40 BR P39

187006 P39096 ROUND MALLEABLE IRON WASHERS HDG 1 40 BR P39



g. 112825 Carmenita Rd . Santa Fe Springs .  CA . 90670 | 1.800.468.9513
grattanfasteners.com

GALVANIZED

ROUND MALLEABLE IRON WASHERS

G
AL

VA
N

IZ
ED

GRATTAN 
PART #

BBI 
PART # DESCRIPTION SIZE BOX 

QTY
VD 
CODE

FAMILY 
CODE

187011 259071 ROUND MALLEABLE IRON WASHERS HDG 1/2 25 PT 259

187012 259081 ROUND MALLEABLE IRON WASHERS HDG 5/8 25 PT 259

187013 259086 ROUND MALLEABLE IRON WASHERS HDG 3/4 25 PT 259

187014 259091 ROUND MALLEABLE IRON WASHERS HDG 7/8 25 PT 259

187015 259096 ROUND MALLEABLE IRON WASHERS HDG 1 25 PT 259



h. 112825 Carmenita Rd . Santa Fe Springs .  CA . 90670 | 1.800.468.9513
grattanfasteners.com

GALVANIZED

HEX BOLTS A307 HDG

G
AL

VA
N

IZ
ED

GRATTAN 
PART #

BBI 
PART # DESCRIPTION SIZE BOX 

QTY
VD 
CODE

FAMILY 
CODE

181001 495001 HEX BOLTS A307 HDG 1/4-20 X 3/4 100 PT 495

181002 495002 HEX BOLTS A307 HDG 1/4-20 X 1 100 PT 495

181063 495003 HEX BOLTS A307 HDG 1/4-20 X 1 1/4 100 PT 495

181003 495004 HEX BOLTS A307 HDG 1/4-20 X 1 1/2 100 PT 495

181004 495006 HEX BOLTS A307 HDG 1/4-20 X 2 100 PT 495

181005 495008 HEX BOLTS A307 HDG 1/4-20 X 2 1/2 100 PT 495

181006 495010 HEX BOLTS A307 HDG 1/4-20 X 3 100 PT 495

181064 495011 HEX BOLTS A307 HDG 1/4-20 X 3 1/2 50 PT 495

181007 495012 HEX BOLTS A307 HDG 1/4-20 X 4 50 PT 495

181008 495013 HEX BOLTS A307 HDG 1/4-20 X 4 1/2 50 PT 495

181009 495014 HEX BOLTS A307 HDG 1/4-20 X 5 25 PT 495

181123 495240 HEX BOLTS A307 HDG 1/4-20 X 5 1/2 100 PT 495

181122 495015 HEX BOLTS A307 HDG 1/4-20 X 6 50 PT 495

181065 495028 HEX BOLTS A307 HDG 5/16-18 X 3/4 100 PT 495

181010 495016 HEX BOLTS A307 HDG 5/16-18 X 1 100 PT 495

181011 495018 HEX BOLTS A307 HDG 5/16-18 X 1 1/2 100 PT 495

181012 495020 HEX BOLTS A307 HDG 5/16-18 X 2 100 PT 495

181013 495021 HEX BOLTS A307 HDG 5/16-18 X 2 1/2 100 PT 495

181014 495022 HEX BOLTS A307 HDG 5/16-18 X 3 100 PT 495

181015 495023 HEX BOLTS A307 HDG 5/16-18 X 3 1/2 50 PT 495

181016 495024 HEX BOLTS A307 HDG 5/16-18 X 4 50 PT 495

181017 495025 HEX BOLTS A307 HDG 5/16-18 X 4 1/2 50 PT 495

181018 495026 HEX BOLTS A307 HDG 5/16-18 X 5 25 PT 495

181019 495027 HEX BOLTS A307 HDG 5/16-18 X 5 1/2 25 PT 495

181020 495029 HEX BOLTS A307 HDG 5/16-18 X 6 25 PT 495

181021 495031 HEX BOLTS A307 HDG 3/8-16 X 1 100 PT 495

181022 495033 HEX BOLTS A307 HDG 3/8-16 X 1 1/2 100 PT 495

181023 495035 HEX BOLTS A307 HDG 3/8-16 X 2 100 PT 495

181024 495037 HEX BOLTS A307 HDG 3/8-16 X 2 1/2 100 PT 495

181025 495039 HEX BOLTS A307 HDG 3/8-16 X 3 100 PT 495

181026 495040 HEX BOLTS A307 HDG 3/8-16 X 3 1/2 50 PT 495

181027 495041 HEX BOLTS A307 HDG 3/8-16 X 4 50 PT 495

181028 495042 HEX BOLTS A307 HDG 3/8-16 X 4 1/2 50 PT 495

181029 495043 HEX BOLTS A307 HDG 3/8-16 X 5 25 PT 495

181030 495044 HEX BOLTS A307 HDG 3/8-16 X 5 1/2 25 PT 495

181031 495046 HEX BOLTS A307 HDG 3/8-16 X 6 25 PT 495



h. 2 “Your Complete Fastener Source”
grattanfasteners.com

GALVANIZED

HEX BOLTS A307 HDG

G
AL

VA
N

IZ
ED

GRATTAN 
PART #

BBI 
PART # DESCRIPTION SIZE BOX 

QTY
VD 
CODE

FAMILY 
CODE

181066 495288 HEX BOLTS A307 HDG 3/8-16 X 6 1/2 25 PT 495

181067 495047 HEX BOLTS A307 HDG 3/8-16 X 7 25 PT 495

181069 495048 HEX BOLTS A307 HDG 3/8-16 X 8 50 PT 495

181032 495051 HEX BOLTS A307 HDG 1/2-13 X 1 50 PT 495

181033 495052 HEX BOLTS A307 HDG 1/2-13 X 1 1/4 50 PT 495

181034 495053 HEX BOLTS A307 HDG 1/2-13 X 1 1/2 50 PT 495

181035 495055 HEX BOLTS A307 HDG 1/2-13 X 2 50 PT 495

181036 495057 HEX BOLTS A307 HDG 1/2-13 X 2 1/2 50 PT 495

181037 495059 HEX BOLTS A307 HDG 1/2-13 X 3 50 PT 495

181038 495061 HEX BOLTS A307 HDG 1/2-13 X 3 1/2 50 PT 495

181039 495062 HEX BOLTS A307 HDG 1/2-13 X 4 50 PT 495

181040 495063 HEX BOLTS A307 HDG 1/2-13 X 4 1/2 50 PT 495

181041 495064 HEX BOLTS A307 HDG 1/2-13 X 5 25 PT 495

181042 495065 HEX BOLTS A307 HDG 1/2-13 X 5 1/2 25 PT 495

181043 495067 HEX BOLTS A307 HDG 1/2-13 X 6 25 PT 495

181044 495068 HEX BOLTS A307 HDG 1/2-13 X 6 1/2 25 PT 495

181045 495069 HEX BOLTS A307 HDG 1/2-13 X 7 25 PT 495

181046 495070 HEX BOLTS A307 HDG 1/2-13 X 7 1/2 25 PT 495

181047 495071 HEX BOLTS A307 HDG 1/2-13 X 8 25 PT 495

181070 495073 HEX BOLTS A307 HDG 1/2-13 X 8 1/2 25 PT 495

181071 495075 HEX BOLTS A307 HDG 1/2-13 X 9 25 PT 495

181073 495077 HEX BOLTS A307 HDG 1/2-13 X 10 25 PT 495

181075 495414 HEX BOLTS A307 HDG 1/2-13 X 11 25 PT 495

181076 495078 HEX BOLTS A307 HDG 1/2-13 X 12 25 PT 495

181077 495084 HEX BOLTS A307 HDG 5/8-11 X 1 1/2 25 PT 495

181078 495086 HEX BOLTS A307 HDG 5/8-11 X 2 25 PT 495

181079 495088 HEX BOLTS A307 HDG 5/8-11 X 2 1/2 25 PT 495

181080 495089 HEX BOLTS A307 HDG 5/8-11 X 3 25 PT 495

181081 495090 HEX BOLTS A307 HDG 5/8-11 X 3 1/2 25 PT 495

181082 495091 HEX BOLTS A307 HDG 5/8-11 X 4 25 PT 495

181054 495092 HEX BOLTS A307 HDG 5/8-11 X 4 1/2 25 PT 495

181055 495093 HEX BOLTS A307 HDG 5/8-11 X 5 25 PT 495

181056 495094 HEX BOLTS A307 HDG 5/8-11 X 5 1/2 25 PT 495

181057 495096 HEX BOLTS A307 HDG 5/8-11 X 6 25 PT 495

181083 495097 HEX BOLTS A307 HDG 5/8-11 X 6 1/2 25 PT 495

181058 495098 HEX BOLTS A307 HDG 5/8-11 X 7 25 PT 495



h. 312825 Carmenita Rd . Santa Fe Springs .  CA . 90670 | 1.800.468.9513
grattanfasteners.com

GALVANIZED

HEX BOLTS A307 HDG

G
AL

VA
N

IZ
ED

GRATTAN 
PART #

BBI 
PART # DESCRIPTION SIZE BOX 

QTY
VD 
CODE

FAMILY 
CODE

181084 495100 HEX BOLTS A307 HDG 5/8-11 X 7 1/2 25 PT 495

181059 495102 HEX BOLTS A307 HDG 5/8-11 X 8 25 PT 495

181085 495103 HEX BOLTS A307 HDG 5/8-11 X 8 1/2 25 PT 495

181062 495104 HEX BOLTS A307 HDG 5/8-11 X 9 25 PT 495

181060 495106 HEX BOLTS A307 HDG 5/8-11 X 10 25 PT 495

181061 495108 HEX BOLTS A307 HDG 5/8-11 X 11 25 PT 495

181088 495109 HEX BOLTS A307 HDG 5/8-11 X 12 25 PT 495

181089 495110 HEX BOLTS A307 HDG 5/8-11 X 13 10 PT 495

181090 495111 HEX BOLTS A307 HDG 5/8-11 X 14 10 PT 495

181118 495112 HEX BOLTS A307 HDG 5/8-11 X 15 1 PT 495

181119 495113 HEX BOLTS A307 HDG 5/8-11 X 16 1 PT 495

181092 495122 HEX BOLTS A307 HDG 3/4-10 X 2 1/2 25 PT 495

181093 495124 HEX BOLTS A307 HDG 3/4-10 X 3 25 PT 495

181094 495125 HEX BOLTS A307 HDG 3/4-10 X 3 1/2 25 PT 495

181095 495126 HEX BOLTS A307 HDG 3/4-10 X 4 25 PT 495

181048 495127 HEX BOLTS A307 HDG 3/4-10 X 4 1/2 25 PT 495

181049 495128 HEX BOLTS A307 HDG 3/4-10 X 5 25 PT 495

181050 495129 HEX BOLTS A307 HDG 3/4-10 X 5 1/2 25 PT 495

181051 495130 HEX BOLTS A307 HDG 3/4-10 X 6 25 PT 495

181096 495131 HEX BOLTS A307 HDG 3/4-10 X 6 1/2 20 PT 495

181052 495133 HEX BOLTS A307 HDG 3/4-10 X 7 25 PT 495

181097 495135 HEX BOLTS A307 HDG 3/4-10 X 7 1/2 20 PT 495

181053 495137 HEX BOLTS A307 HDG 3/4-10 X 8 25 PT 495

181098 495139 HEX BOLTS A307 HDG 3/4-10 X 8 1/2 20 PT 495

181099 495141 HEX BOLTS A307 HDG 3/4-10 X 9 20 PT 495

181100 495144 HEX BOLTS A307 HDG 3/4-10 X 10 20 PT 495

181127 495145 HEX BOLTS A307 HDG 3/4-10 X 10 1/2 10 PT 495

181101 495147 HEX BOLTS A307 HDG 3/4-10 X 11 15 PT 495

181102 495148 HEX BOLTS A307 HDG 3/4-10 X 12 15 PT 495

181103 495150 HEX BOLTS A307 HDG 3/4-10 X 13 1 PT 495

181104 495151 HEX BOLTS A307 HDG 3/4-10 X 14 1 PT 495

181120 495152 HEX BOLTS A307 HDG 3/4-10 X 15 1 PT 495

181121 495153 HEX BOLTS A307 HDG 3/4-10 X 16 1 PT 495

181128 495154 HEX BOLTS A307 HDG 3/4-10 X 18 5 PT 495

181129 495155 HEX BOLTS A307 HDG 3/4-10 X 20 5 PT 495

181105 495165 HEX BOLTS A307 HDG 7/8-9 X 5 15 PT 495



h. 4 “Your Complete Fastener Source”
grattanfasteners.com

GALVANIZED

HEX BOLTS A307 HDG

G
AL

VA
N

IZ
ED

GRATTAN 
PART #

BBI 
PART # DESCRIPTION SIZE BOX 

QTY
VD 
CODE

FAMILY 
CODE

181106 495168 HEX BOLTS A307 HDG 7/8-9 X 6 10 PT 495

181107 495170 HEX BOLTS A307 HDG 7/8-9 X 7 10 PT 495

181108 495172 HEX BOLTS A307 HDG 7/8-9 X 8 10 PT 495

181110 495174 HEX BOLTS A307 HDG 7/8-9 X 10 10 PT 495

181112 495193 HEX BOLTS A307 HDG 1-8 X 6 10 PT 495

181124 495190 HEX BOLTS A307 HDG 1-8 X 5 10 PT 495

181125 495195 HEX BOLTS A307 HDG 1-8 X 7 10 PT 495

181114 495198 HEX BOLTS A307 HDG 1-8 X 8 10 PT 495

181116 495202 HEX BOLTS A307 HDG 1-8 X 10 10 PT 495

181117 495203 HEX BOLTS A307 HDG 1-8 X 12 10 PT 495



i. 112825 Carmenita Rd . Santa Fe Springs .  CA . 90670 | 1.800.468.9513
grattanfasteners.com

GALVANIZED

CARRIAGE BOLTS A307 HDG

G
AL

VA
N

IZ
ED

GRATTAN 
PART #

BBI 
PART # DESCRIPTION SIZE BOX 

QTY
VD 
CODE

FAMILY 
CODE

183014 490020 CARRIAGE BOLTS A307 HDG 1/4-20 X 1 100 PT 490

183015 490022 CARRIAGE BOLTS A307 HDG 1/4-20 X 1 1/2 100 PT 490

183016 490024 CARRIAGE BOLTS A307 HDG 1/4-20 X 2 100 PT 490

183017 490026 CARRIAGE BOLTS A307 HDG 1/4-20 X 2 1/2 100 PT 490

183018 490028 CARRIAGE BOLTS A307 HDG 1/4-20 X 3 100 PT 490

183060 490029 CARRIAGE BOLTS A307 HDG 1/4-20 X 3 1/2 50 PT 490

183019 490030 CARRIAGE BOLTS A307 HDG 1/4-20 X 4 50 PT 490

183062 490031 CARRIAGE BOLTS A307 HDG 1/4-20 X 4 1/2 100 PT 490

183063 490032 CARRIAGE BOLTS A307 HDG 1/4-20 X 5 100 PT 490

183064 490033 CARRIAGE BOLTS A307 HDG 1/4-20 X 5 1/2 100 PT 490

183065 490034 CARRIAGE BOLTS A307 HDG 1/4-20 X 6 100 PT 490

183020 490036 CARRIAGE BOLTS A307 HDG 5/16-18 X 1 100 PT 490

183061 490037 CARRIAGE BOLTS A307 HDG 5/16-18 X 1 1/4 100 PT 490

183021 490038 CARRIAGE BOLTS A307 HDG 5/16-18 X 1 1/2 100 PT 490

183022 490040 CARRIAGE BOLTS A307 HDG 5/16-18 X 2 100 PT 490

183023 490042 CARRIAGE BOLTS A307 HDG 5/16-18 X 2 1/2 100 PT 490

183024 490043 CARRIAGE BOLTS A307 HDG 5/16-18 X 3 100 PT 490

183025 490044 CARRIAGE BOLTS A307 HDG 5/16-18 X 3 1/2 50 PT 490

183026 490045 CARRIAGE BOLTS A307 HDG 5/16-18 X 4 50 PT 490

183066 490046 CARRIAGE BOLTS A307 HDG 5/16-18 X 4 1/2 50 PT 490

183027 490047 CARRIAGE BOLTS A307 HDG 5/16-18 X 5 25 PT 490

183067 490048 CARRIAGE BOLTS A307 HDG 5/16-18 X 5 1/2 50 PT 490

183028 490049 CARRIAGE BOLTS A307 HDG 5/16-18 X 6 25 PT 490

183029 490111 CARRIAGE BOLTS A307 HDG 5/16-18 X 6 1/2 25 PT 490

183068 490051 CARRIAGE BOLTS A307 HDG 3/8-16 X 1 100 PT 490

183069 490053 CARRIAGE BOLTS A307 HDG 3/8-16 X 1 1/2 100 PT 490

183030 490054 CARRIAGE BOLTS A307 HDG 3/8-16 X 2 100 PT 490

183031 490056 CARRIAGE BOLTS A307 HDG 3/8-16 X 2 1/2 100 PT 490

183032 490057 CARRIAGE BOLTS A307 HDG 3/8-16 X 3 50 PT 490

183033 490058 CARRIAGE BOLTS A307 HDG 3/8-16 X 3 1/2 50 PT 490

183034 490059 CARRIAGE BOLTS A307 HDG 3/8-16 X 4 50 PT 490

183070 490060 CARRIAGE BOLTS A307 HDG 3/8-16 X 4 1/2 50 PT 490

183036 490061 CARRIAGE BOLTS A307 HDG 3/8-16 X 5 50 PT 490

183071 490062 CARRIAGE BOLTS A307 HDG 3/8-16 X 5 1/2 50 PT 490

183038 490063 CARRIAGE BOLTS A307 HDG 3/8-16 X 6 50 PT 490

183039 490001 CARRIAGE BOLTS A307 HDG 3/8-16 X 6 1/2 50 PT 490



i. 2 “Your Complete Fastener Source”
grattanfasteners.com

GALVANIZED

CARRIAGE BOLTS A307 HDG

G
AL

VA
N

IZ
ED

GRATTAN 
PART #

BBI 
PART # DESCRIPTION SIZE BOX 

QTY
VD 
CODE

FAMILY 
CODE

183040 490002 CARRIAGE BOLTS A307 HDG 3/8-16 X 7 50 PT 490

183042 490003 CARRIAGE BOLTS A307 HDG 3/8-16 X 8 50 PT 490

183072 490004 CARRIAGE BOLTS A307 HDG 3/8-16 X 9 50 PT 490

183073 490005 CARRIAGE BOLTS A307 HDG 3/8-16 X 10 50 PT 490

183059 490007 CARRIAGE BOLTS A307 HDG 3/8-16 X 12 50 PT 490

183044 490068 CARRIAGE BOLTS A307 HDG 1/2-13 X 2 50 PT 490

183045 490070 CARRIAGE BOLTS A307 HDG 1/2-13 X 2 1/2 50 PT 490

183046 490071 CARRIAGE BOLTS A307 HDG 1/2-13 X 3 50 PT 490

183047 490072 CARRIAGE BOLTS A307 HDG 1/2-13 X 3 1/2 25 P4 490

183037 490072 CARRIAGE BOLTS A307 HDG 1/2-13 X 3 1/2 50 PT 490

183048 490073 CARRIAGE BOLTS A307 HDG 1/2-13 X 4 50 PT 490

183049 490074 CARRIAGE BOLTS A307 HDG 1/2-13 X 4 1/2 25 PT 490

183050 490075 CARRIAGE BOLTS A307 HDG 1/2-13 X 5 25 PT 490

183051 490076 CARRIAGE BOLTS A307 HDG 1/2-13 X 5 1/2 25 PT 490

183052 490077 CARRIAGE BOLTS A307 HDG 1/2-13 X 6 25 PT 490

183053 490078 CARRIAGE BOLTS A307 HDG 1/2-13 X 6 1/2 25 PT 490

183054 490009 CARRIAGE BOLTS A307 HDG 1/2-13 X 7 25 PT 490

183055 490119 CARRIAGE BOLTS A307 HDG 1/2-13 X 7 1/2 25 PT 490

183056 490010 CARRIAGE BOLTS A307 HDG 1/2-13 X 8 25 PT 490

183057 490011 CARRIAGE BOLTS A307 HDG 1/2-13 X 9 25 PT 490

183058 490012 CARRIAGE BOLTS A307 HDG 1/2-13 X 10 25 PT 490

183074 490148 CARRIAGE BOLTS A307 HDG 1/2-13 X 12 25 PT 490

183080 490079 CARRIAGE BOLTS A307 HDG 5/8-11 X 2 25 PT 490

183081 490127 CARRIAGE BOLTS A307 HDG 5/8-11 X 2 1/2 25 PT 490

183082 490080 CARRIAGE BOLTS A307 HDG 5/8-11 X 3 25 PT 490

183083 490128 CARRIAGE BOLTS A307 HDG 5/8-11 X 3 1/2 25 PT 490

183084 490081 CARRIAGE BOLTS A307 HDG 5/8-11 X 4 25 PT 490

183085 490129 CARRIAGE BOLTS A307 HDG 5/8-11 X 4 1/2 25 PT 490

183086 490082 CARRIAGE BOLTS A307 HDG 5/8-11 X 5 25 PT 490

183088 490084 CARRIAGE BOLTS A307 HDG 5/8-11 X 6 25 PT 490

183090 490086 CARRIAGE BOLTS A307 HDG 5/8-11 X 7 25 PT 490

183092 490087 CARRIAGE BOLTS A307 HDG 5/8-11 X 8 25 PT 490

183094 490088 CARRIAGE BOLTS A307 HDG 5/8-11 X 9 20 PT 490

183096 490089 CARRIAGE BOLTS A307 HDG 5/8-11 X 10 20 PT 490

183098 490090 CARRIAGE BOLTS A307 HDG 5/8-11 X 12 20 PT 490

183104 490095 CARRIAGE BOLTS A307 HDG 3/4-10 X 4 25 PT 490



i. 312825 Carmenita Rd . Santa Fe Springs .  CA . 90670 | 1.800.468.9513
grattanfasteners.com

GALVANIZED

CARRIAGE BOLTS A307 HDG

G
AL

VA
N

IZ
ED

GRATTAN 
PART #

BBI 
PART # DESCRIPTION SIZE BOX 

QTY
VD 
CODE

FAMILY 
CODE

183108 490097 CARRIAGE BOLTS A307 HDG 3/4-10 X 6 20 PT 490

183110 490098 CARRIAGE BOLTS A307 HDG 3/4-10 X 7 20 PT 490

183112 490099 CARRIAGE BOLTS A307 HDG 3/4-10 X 8 15 PT 490

183115 490101 CARRIAGE BOLTS A307 HDG 3/4-10 X 10 15 PT 490

183117 490102 CARRIAGE BOLTS A307 HDG 3/4-10 X 12 10 PT 490



j. 112825 Carmenita Rd . Santa Fe Springs .  CA . 90670 | 1.800.468.9513
grattanfasteners.com

GALVANIZED

HEX LAG SCREWS HDG

G
AL

VA
N

IZ
ED

GRATTAN 
PART #

BBI 
PART # DESCRIPTION SIZE BOX 

QTY
VD 
CODE

FAMILY 
CODE

184001 487106 HEX LAG SCREWS HDG 1/4 X 1 100 PT 487

184002 487118 HEX LAG SCREWS HDG 1/4 X 1 1/2 100 PT 487

184006 487112 HEX LAG SCREWS HDG 1/4 X 1 1/4 100 PT 487

184003 487126 HEX LAG SCREWS HDG 1/4 X 2 100 PT 487

184004 487136 HEX LAG SCREWS HDG 1/4 X 2 1/2 100 PT 487

184005 487144 HEX LAG SCREWS HDG 1/4 X 3 100 PT 487

184007 487156 HEX LAG SCREWS HDG 1/4 X 3 1/2 50 PT 487

184008 487164 HEX LAG SCREWS HDG 1/4 X 4 50 PT 487

184009 487167 HEX LAG SCREWS HDG 1/4 X 4 1/2 50 PT 487

184010 487170 HEX LAG SCREWS HDG 1/4 X 5 50 PT 487

184050 487173 HEX LAG SCREWS HDG 1/4 X 5 1/2 50 PT 487

184052 487176 HEX LAG SCREWS HDG 1/4 X 6 50 PT 487

184060 487206 HEX LAG SCREWS HDG 5/16 X 1 100 PT 487

184011 487218 HEX LAG SCREWS HDG 5/16 X 1 1/2 100 PT 487

184012 487226 HEX LAG SCREWS HDG 5/16 X 2 100 PT 487

184013 487236 HEX LAG SCREWS HDG 5/16 X 2 1/2 100 PT 487

184014 487244 HEX LAG SCREWS HDG 5/16 X 3 100 PT 487

184015 487256 HEX LAG SCREWS HDG 5/16 X 3 1/2 50 PT 487

184016 487264 HEX LAG SCREWS HDG 5/16 X 4 50 PT 487

184061 487267 HEX LAG SCREWS HDG 5/16 X 4 1/2 50 PT 487

184062 487270 HEX LAG SCREWS HDG 5/16 X 5 50 PT 487

184063 487273 HEX LAG SCREWS HDG 5/16 X 5 1/2 50 PT 487

184064 487276 HEX LAG SCREWS HDG 5/16 X 6 50 PT 487

184070 487306 HEX LAG SCREWS HDG 3/8 X 1 100 PT 487

184020 487318 HEX LAG SCREWS HDG 3/8 X 1 1/2 100 PT 487

184021 487326 HEX LAG SCREWS HDG 3/8 X 2 100 PT 487

184022 487336 HEX LAG SCREWS HDG 3/8 X 2 1/2 100 PT 487

184023 487344 HEX LAG SCREWS HDG 3/8 X 3 50 PT 487

184024 487356 HEX LAG SCREWS HDG 3/8 X 3 1/2 50 PT 487

184025 487364 HEX LAG SCREWS HDG 3/8 X 4 50 PT 487

184071 487367 HEX LAG SCREWS HDG 3/8 X 4 1/2 50 PT 487

184027 487370 HEX LAG SCREWS HDG 3/8 X 5 50 PT 487

184072 487373 HEX LAG SCREWS HDG 3/8 X 5 1/2 50 PT 487

184028 487376 HEX LAG SCREWS HDG 3/8 X 6 50 PT 487

184121 487382 HEX LAG SCREWS HDG 3/8 X 7 50 PT 487

184122 487388 HEX LAG SCREWS HDG 3/8 X 8 50 PT 487



j. 2 “Your Complete Fastener Source”
grattanfasteners.com

GALVANIZED

HEX LAG SCREWS HDG

G
AL

VA
N

IZ
ED

GRATTAN 
PART #

BBI 
PART # DESCRIPTION SIZE BOX 

QTY
VD 
CODE

FAMILY 
CODE

184123 487390 HEX LAG SCREWS HDG 3/8 X 10 50 PT 487

184080 487518 HEX LAG SCREWS HDG 1/2 X 1 1/2 50 PT 487

184081 487526 HEX LAG SCREWS HDG 1/2 X 2 50 PT 487

184082 487536 HEX LAG SCREWS HDG 1/2 X 2 1/2 50 PT 487

184034 487544 HEX LAG SCREWS HDG 1/2 X 3 50 PT 487

184035 487556 HEX LAG SCREWS HDG 1/2 X 3 1/2 50 PT 487

184036 487564 HEX LAG SCREWS HDG 1/2 X 4 50 PT 487

184037 487567 HEX LAG SCREWS HDG 1/2 X 4 1/2 50 PT 487

184038 487570 HEX LAG SCREWS HDG 1/2 X 5 50 PT 487

184083 487573 HEX LAG SCREWS HDG 1/2 X 5 1/2 50 PT 487

184039 487576 HEX LAG SCREWS HDG 1/2 X 6 50 PT 487

184040 487582 HEX LAG SCREWS HDG 1/2 X 7 50 PT 487

184041 487588 HEX LAG SCREWS HDG 1/2 X 8 50 PT 487

184042 487589 HEX LAG SCREWS HDG 1/2 X 9 25 PT 487

184043 487590 HEX LAG SCREWS HDG 1/2 X 10 25 PT 487

184044 487592 HEX LAG SCREWS HDG 1/2 X 12 25 PT 487

184125 487626 HEX LAG SCREWS HDG 5/8 X 2 25 PT 487

184126 487636 HEX LAG SCREWS HDG 5/8 X 2 1/2 25 PT 487

184100 487644 HEX LAG SCREWS HDG 5/8 X 3 25 PT 487

184101 487662 HEX LAG SCREWS HDG 5/8 X 3 1/2 25 PT 487

184102 487664 HEX LAG SCREWS HDG 5/8 X 4 25 PT 487

184103 487667 HEX LAG SCREWS HDG 5/8 X 4 1/2 25 PT 487

184104 487670 HEX LAG SCREWS HDG 5/8 X 5 25 PT 487

184105 487672 HEX LAG SCREWS HDG 5/8 X 5 1/2 25 PT 487

184106 487676 HEX LAG SCREWS HDG 5/8 X 6 25 PT 487

184107 487682 HEX LAG SCREWS HDG 5/8 X 7 25 PT 487

184108 487688 HEX LAG SCREWS HDG 5/8 X 8 25 PT 487

184109 487689 HEX LAG SCREWS HDG 5/8 X 9 25 PT 487

184110 487690 HEX LAG SCREWS HDG 5/8 X 10 25 PT 487

184127 487691 HEX LAG SCREWS HDG 5/8 X 11 25 PT 487

184111 487692 HEX LAG SCREWS HDG 5/8 X 12 25 PT 487

184114 487693 HEX LAG SCREWS HDG 5/8 X 14 10 PT 487

184116 487694 HEX LAG SCREWS HDG 5/8 X 16 10 PT 487

184128 487764 HEX LAG SCREWS HDG 3/4 X 2 1/2 25 PT 487

184129 487765 HEX LAG SCREWS HDG 3/4 X 3 25 PT 487

184131 487767 HEX LAG SCREWS HDG 3/4 X 4 25 PT 487



j. 312825 Carmenita Rd . Santa Fe Springs .  CA . 90670 | 1.800.468.9513
grattanfasteners.com

GALVANIZED

HEX LAG SCREWS HDG

G
AL

VA
N

IZ
ED

GRATTAN 
PART #

BBI 
PART # DESCRIPTION SIZE BOX 

QTY
VD 
CODE

FAMILY 
CODE

184132 487768 HEX LAG SCREWS HDG 3/4 X 4 1/2 25 PT 487

184133 487770 HEX LAG SCREWS HDG 3/4 X 5 25 PT 487

184135 487773 HEX LAG SCREWS HDG 3/4 X 5 1/2 20 PT 487

184137 487776 HEX LAG SCREWS HDG 3/4 X 6 20 PT 487

184138 487782 HEX LAG SCREWS HDG 3/4 X 7 20 PT 487

184139 487788 HEX LAG SCREWS HDG 3/4 X 8 20 PT 487

184140 487789 HEX LAG SCREWS HDG 3/4 X 9 20 PT 487

184141 487790 HEX LAG SCREWS HDG 3/4 X 10 20 PT 487

184143 487792 HEX LAG SCREWS HDG 3/4 X 12 15 PT 487

184134 487793 HEX LAG SCREWS HDG 3/4 X 14 1 PT 487

184136 487794 HEX LAG SCREWS HDG 3/4 X 16 1 PT 487



k. 112825 Carmenita Rd . Santa Fe Springs .  CA . 90670 | 1.800.468.9513
grattanfasteners.com

GALVANIZED

ROOFING SCREWS HWH W/BONDED WASHER HDG

G
AL

VA
N

IZ
ED

GRATTAN 
PART #

BBI 
PART # DESCRIPTION SIZE BOX 

QTY
VD 
CODE

FAMILY 
CODE

188040 P6E010 ROOFING SCREWS SHARP POINT W/SEALER WASHER 
HDG #9 X 1 100 PT P6E

188041 P6E020 ROOFING SCREWS SHARP POINT W/SEALER WASHER 
HDG #9 X 1 1/2 100 PT P6E

188042 P6E030 ROOFING SCREWS SHARP POINT W/SEALER WASHER 
HDG #9 X 2 100 PT P6E

188043 P6E040 ROOFING SCREWS SHARP POINT W/SEALER WASHER 
HDG #9 X 2 1/2 100 PT P6E



l. 112825 Carmenita Rd . Santa Fe Springs .  CA . 90670 | 1.800.468.9513
grattanfasteners.com

GALVANIZED

ROOFING SCREWS HWH W/BONDED WASHER HDG

G
AL

VA
N

IZ
ED

GRATTAN 
PART #

BBI 
PART # DESCRIPTION SIZE BOX 

QTY
VD 
CODE

FAMILY 
CODE

188050 969027 ROOFING SCREWS SELF DRILLING W/SEALER WASHER 
HDG #10 X 1 100 PT 969

188055 969028 ROOFING SCREWS SELF DRILLING W/SEALER WASHER 
HDG #10 X 1 1/2 100 PT 969



m. 112825 Carmenita Rd . Santa Fe Springs .  CA . 90670 | 1.800.468.9513
grattanfasteners.com

GALVANIZED

A307 GRADE A ALL THREAD RODS

G
AL

VA
N

IZ
ED

GRATTAN 
PART #

BBI 
PART # DESCRIPTION SIZE BOX 

QTY
VD 
CODE

FAMILY 
CODE

189030 770050 ALL THREAD RODS HDG 1/2-13 X 1 12 BR 770

189044 770051 ALL THREAD RODS HDG 1/2-13 X 36 12 BR 770

189045 770054 ALL THREAD RODS HDG 1/2-13 X 48 12 BR 770

189046 770053 ALL THREAD RODS HDG 1/2-13 X 72 12 BR 770

189047 770055 ALL THREAD RODS HDG 1/2-13 X 120 12 BR 770

189048 770057 ALL THREAD RODS HDG 1/2-13 X 12’ 12 BR 770

189031 770060 ALL THREAD RODS HDG 5/8-11 X 1 8 BR 770

189040 770061 ALL THREAD RODS HDG 5/8-11 X 36 8 BR 770

189041 770064 ALL THREAD RODS HDG 5/8-11 X 48 8 BR 770

189042 770063 ALL THREAD RODS HDG 5/8-11 X 72 8 BR 770

189072 770065 ALL THREAD RODS HDG 5/8-11 X 120 8 BR 770

189032 770070 ALL THREAD RODS HDG 3/4-10 X 1 5 BR 770

189050 770071 ALL THREAD RODS HDG 3/4-10 X 36 5 BR 770

189051 770074 ALL THREAD RODS HDG 3/4-10 X 48 5 BR 770

189052 770073 ALL THREAD RODS HDG 3/4-10 X 72 5 BR 770

189053 770075 ALL THREAD RODS HDG 3/4-10 X 120 5 BR 770

189033 770080 ALL THREAD RODS HDG 7/8-9 X 1 4 BR 770

189035 770088 ALL THREAD RODS HDG 7/8-9 X 2’ 4 BR 770

189060 770081 ALL THREAD RODS HDG 7/8-9 X 36 4 BR 770

189061 770084 ALL THREAD RODS HDG 7/8-9 X 48 4 BR 770

189043 770083 ALL THREAD RODS HDG 7/8-9 X 72 4 BR 770

189063 770085 ALL THREAD RODS HDG 7/8-9 X 120 4 BR 770

189070 770091 ALL THREAD RODS HDG 1-8 X 36 3 BR 770

189071 770093 ALL THREAD RODS HDG 1-8 X 48 3 BR 770

189073 770095 ALL THREAD RODS HDG 1-8 X 120 1 BR 770

189081 770113 ALL THREAD RODS HDG 1 1/8-7 X 120 2 BR 770


